3-Digit by 2-Digit: S2

Multiplication Word Problems

1) Anaircraft carries 428 passengers in a single trip. How many passengers will the craft
carry in 69 trips?

2)  Acrate holds 16 fruit juice cartons. If 337 such crates are loaded onto a truck, how
many cartons are trucked?
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shoots. If they sell 852 such salmon platters, how many asparagus shoots do they use?

6)  Bella's Beauty Shop offers a free goodie bag containing 10 finger rings with each fancy
haircut. If 429 people got fancy haircuts at the shop, how many rings were given in all?
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